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Problem 

A supervisor (40 years old) is sitting at her desk illuminated by a 200-candela source 1.5 meters above it. She is writing with green ink (reflectance = 30 percent) on a yellow note pad (reflectance = 60 percent). The speed and accuracy are important.

a) What is the illumination on the note pad?  200 / (1.5)2 = 88.89 Luxes
b) Is that sufficient given that the task of supervisor belongs to the E-category (500-750-100 Lux)? If not, what amount of illumination is needed? 
Weight Index
40 years age:



0
Important speed & accuracy:

0

60 % reflectance of the background:
0

________________________________________

Total:




0

Therefore; Illumination must be set at 750 lx at least. So the 200-candela source is not sufficient.

c) What is the contrast of the writing task? 
Contrast ratio = (Lmax – Lmin ) / Lmax
Lmax= 88.89 x 0.6 = 53.33 lx.

Lmin= 88.89 x 0.3 = 26.67 lx.

Therefore; contrast ratio= (53.33 -26.67) / 53.33 = 0.5

d) What is the luminance of the notepad?

Luminance (Notepad) = 88.89 x 0.6 = 53.33 lx.
